JuarHocrtuyeckas pa6ora 1

Pemute cuctemMy ypaBHEHUH.
2x+3y =7,

2x%+y=09.
(x—=2)(y+3)=0,

=Dy +4) = 8.
(x+5)(x 6)

=0,
3. 2x+ X2
{(y 9049 {3 =0,
: X—y+5
{3x+2 3y+2’ {

@x—=7m)(y+3m) =

51n3x+ y/cos7y=1.

7.

x=13siny,
13xsm y=siny+14.

x-3VV =
JX3'=6

(y =4 log;x=9,
(y—4)1og,3=1.

10.
3y2 +5x+2=0.
y +2J_ 4.

(Vx=5)(/y-3)=0,
3x+5y=60.

logy, 3, (4x—y)=1,

12.
log;(2x —3y) -log, (3x+2y) =0.



JluarHocTudeckas pabora 2

Pemure cuctemMy ypaBHEHUU.
x2+y2=36, (16x —13m)(8y — 157) =0,
7
tg4x+4/tg2y=1.

2y2+3x2+4|=2y%+3x*+x,
12y =2y {x2—5x+6=0,

2siny =x.

5x—4y ~ 5y—4x’ 32x+y* — gx+2y
.X:y:_].6. 9, x_y+5
=0.
y—4

x=1_x=2
-1 y—-2° _ . y+3= _ L x+2
] ; y 10’{(x 3)-7 (y—2)- 72,

x+y=>5.

2x=3y, X2 —xy +12=0,

V6xy=x+09. 1.4 -0 -7
= = .
log, ,(y =5)

_9 (x=5)Qy—-HKx—-9=0,
vy VX 12. { log,_45-logs(y —3)=2.



JluarHocTuyeckas pabora 3

Pemute cuctemMy ypaBHEHUH.

{Ix 2y|= (x—4)(y+5)=0,
7.
ye—2y - 5)_20 3cosnx+sin%=2.
(x—=3y)(x—y)=0,
{ Y Y x>=4siny +1,
Y3y +1=x. " | x=2siny —1.
. (x=6)(y+7)= x13=127,
+4 9.
xyy —=-3. 2 —11x—12=0
(x+16)-7°=9y,
x_ x_ (x+16)-9*=7y.
4.{ y° y
x—5y=15. log;(x—7) -log,(y —3) =0,
2x +
s {iiiﬁ z e
~10 10g5(2x+3y)6:
6. ’ 203y +15 _
2x+3y—-5~ =



